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QID : 1 - From ages three to five, growth in socioemotional skills includes all of these except

50 @ 0% od @A FIER, AIFIRR-2ICRCIGR QACIR @8 B Y 6REE AfR F6aRE

Techofworld.In

1) gender identification

Alagaal

2) development of a sense of right and wrong
0R @ gR FIERIQ KL FRIEl

3) learn the values of their societies

AR MY QIEQ!

4) formation of peer relationships

aeqiol amd qF @aQ!

Correct Answer: 3) learn the values of their societies
AR AR QIEe!

Candidate Answer: 1) gender identification
mer Ggal

QID : 2 - In which of these stages children have a growing peer orientation, yet they are strongly
influenced by their family?

NG FUQ 6R6l 90568 IRIFIER JRRIA QIRI QR QIR 2RGURG 626m AY QARG QIR JRIAE 6RIR2If ?
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Options:

1) Early Childhood
QIfe 68i6Q

2) Later Childhood
AQREN 656

3) Adolescence
6@661Q

4) Late teenage years
RGO 6a6aIQ

Correct Answer: 2) Later Childhood
AQQEN 66161Q

Candidate Answer: 3) Adolescence
60641

Techofworld.in

QID : 3 - Which of these is not a principle of Constructivism?
Jgoe AUQ Q6 G0RMRe AR Q6% ?
Options:

1) The function of cognition is an adaptation of reality
QIYIOIg G268l KRR 6268 AHIRIRR QITY

2) Knowledge is embedded in the social context

e AR A A2 GO

3) Every Child is an active constructor of knowledge
d6 &g RIeQ @66 AR, Pdleeal

4) There is only one Ultimate Truth

6RQR 6615\ AT A6y 218

Correct Answer: 4) There is only one Ultimate Truth
6RQR 6616\ AGQNIT A0y &8

Candidate Answer: 4) There is only one Ultimate Truth
600 60IGN AeeyId Q0 218

QID : 4 - According to Piaget,children at which of these stages tend to be egocentric and struggle to
see things from the perspective of others?

Juicee 29161, ¥gEe NIQ 6R6 da 2IERL1e 6RIRIN G ARYAIRE QF6aIa 2AIR6a AQ 60¢ 98I
AQR 621N ?
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Options:

1) The Formal Operational Stage
d0a aeeIdyuct ga

2) The Concrete Operational Stage
ae a@idiaeh ga

3) The Preoperational Stage

g1e a@Idye ga

4) The Sensorimotor Stage

60T RIoe 4ol

Correct Answer: 3) The Preoperational Stage
Q1| aRIdyeh ga

Candidate Answer: 3) The Preoperational Stage

~ Techofworld.In

QID : 5 - Which of these is not a development change taking place in the Formal Operational Stage?

YgeR g @8 GlacIRe RIJIAeY, PRER 1@ BaIs 68 ?
Options:

1) Children at this stage tend to be egocentric and struggle to see things from the perspective of
others.

@ ga6a AMIFIER A2° 6RL10 22F G ARIAIRE QE6RIS] U048l 6269Ig 9°ad @ag

2) At this stage, the adolescent or young adult begins to think abstractly and reason about
hypothetical problems

2 gaea F68lIa Q1 49 F6EIa AFR 090 @Al 2I0A @F 6 JIq @fRIAe AR QIR8 9217

3) Teens begin to think more about moral, philosophical, ethical, social, and political issues that
require theoretical and abstract reasoning

PEEIRCIER 6AlRR, 6R, 6RO, AIFING G AIREFO ACEI FRYER 2@ QAT 2K KR JIRIR afRe 8
el 06 219640 QG

4) Begin to use deductive logic, or reasoning from a general principle to specific information

e QRIS HACQ FEY FaR diel DAARIe 66 QIR FAQI 28R @aF

Correct Answer: 1) Children at this stage tend to be egocentric and struggle to see things from the
perspective of others.
@ gasa JRIFIeR 21e° 62910 927 8 ARIAINE QFRI6Q 964l 626QIg 9°ad @]

Candidate Answer: 1) Children at this stage tend to be egocentric and struggle to see things from

the perspective of others.
@ gaea dRIFIeR 219° 60910 92T 6 ARIAING QFewIaQ Acél 6eelg A°ad @ag

QID : 6 - A balanced development of a child happens due to

RIQEIQ IR 8§ FAGE IRl 6RIREIN ?
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Options:

1) heredity

QGlgee

2) evolution

Rllola)

3) environment

a[alsaly

4) heredity and environment
QEIQRr B RS

Correct Answer: 4) heredity and environment
Q°EIPRF B AR6RE

Candidate Answer: 4) heredity and environment

7 Techofworld.In

QID : 7 - Which of these is not a main Characteristic of a good learning Objective?
e FlIQ @61 9@ Q90 JIfI QEREHR I8t Gﬁaq_ﬂ Q6 ?
Options:

1) The learning objective should identify a learning outcome

@ G8l Qa6 G8IQ IRICR 60QR PRI

2) The learning objective should be consistent with the course goal

FAIQ QR4 AI0YQ AF A2 JQa 08I AFQ

3) The learning objective should have a meaningful outcome of instructions

JRIQ Qsa6ia genigee Aecq 9@ 28 IRITR 026! AR

4) The learning objective should be general and not cater to specific set of learners
ARIa QR ARIRE 6201 PR B F66IA gRIaa ARIIAING QIR AR 60Q ABY 6L

Correct Answer: 4) The learning objective should be general and not cater to specific set of learners
ARIQ A6R6 QRIS 6201 AR B 6618 JRINR SRIANAIRE AR IR 69Q| ABR F6L

Candidate Answer: 1) The learning objective should identify a learning outcome
@ G8l Qa6 8IQ IRICR 60QR PRI

QID : 8 - Thoughts as sympathy, pity, maternal love, attachment, etc., belong to which category of
Attention?

A°6Q0RI, @, FIR 679, 210G AEYIB 636! 6861Q FAERIEAIS 216G ?
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Options:

1) Derived Attention

Pgae FA6RledIe!

2) Immediate Attention

oRlR Flerlealel

3) Abstract Attention

AR F6RI6I6!

4) Sensory or Concrete Attention
g6 QI gﬁw‘ F16RI6LIG!

Correct Answer: 3) Abstract Attention
AQE A6RI6QI6!

Candidate Answer: 4) Sensory or Concrete Attention

Techofworld.In

QID : 9 - The social learning theory that emphasizes the importance of observing and modelling the
behaviours, attitudes, and emotional reactions of others was proposed by which of these eminent
researchers?

AAEe &gl dRIg, Q12! @40218, JA B ARFIREA 2I6ede J05alg AdIcems @Al 8 g6Qas et
e @61, 0121 FeCly 62Q 6RER AEIRIEM ?

Options:

1) Bandura
QA

2) Piaget
delea

3) Vygotsky
Q6aIg

4) Murakami
euRId

Correct Answer: 1) Bandura
QA

Candidate Answer: 3) Vygotsky
Q661G

QID : 10 - Mentoring from a teacher helps impact learning of students in all these ways other than

JRae Qo R10aE 210w d8Ig Q4010 9B aAg BagPg ARG @GRl |

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) encouraging them

69CIRE 6QIIR0 KRR

2) providing a safe space to share their thoughts
6QFIRER 5PAR 2IQIR JRIR AIR ¥ JaRE IR 6QIGIRQ!
3) judging them

62CING 2RRR AAR|

4) building confidence

2108¢1a 9F @Al

Correct Answer: 3) judging them
627G AIRRR KRS

Candidate Answer: 2) providing a safe space to share their thoughts
6QFIREQ DRAA 21N JIR AIR 9@ JaRE IR 6QICINQ!

Techofworld.In

QID : 11 - For which of these types learners, roleplaying might be the key to help them connect with
the lesson?

GER AIQ 606 JRI0Q SRIC AR, 6AAIRE A6 641G 6201 dIR RN 6 A6 ARG FRAER ?
Options:

1) kinaesthetic
60 QgeQ,

2) visual

Q84 AN,

3) aural

@8l AT,

4) mathematical
GGG

Correct Answer: 1) kinaesthetic
oo agea

Candidate Answer: 4) mathematical
CIEIGe

QID : 12 - Development and learning occur in and are influenced by which of these?

NGoR AQ @6 QIR TRIS G SRl JRITE 62IR2IN ?
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Options:

1) Only Social aspects

6ROR AIFIRR QF6RIE

2) Only Economic aspects

6ReR AT6FoR Q616

3) Only Cultural and economic aspects
6207 ArgoeR G 2eFoR QgsRIe

4) All Social, Cultural and Economic aspects
RS, Argoe 6 2deFoR QFealel

Correct Answer: 4) All Social, Cultural and Economic aspects
ACIGS, AgoR G 2o QFeRI8

Candidate Answer: 4) All Social, Cultural and Economic aspects

RS, ArgRe 6 2dsFoe QiR
Techofworld.In

QID : 13 - All of these factors contribute to the lower rate of girl child education except

R FrIQ Q6 QY910 R4 AFg RN QIR Yl 2R RTQIQ RIS Q6L ?
Options:

1) child marriage

QR FQIQ

2) malnutrition
Q6T

3) low self esteem

@6 216 AgIR

4) no space in schools
FMIRAER g FO@Q!

Correct Answer: 4) no space in schools
QIRLER I PR

Candidate Answer: 1) child marriage
QR QI

QID : 14 - Which of these is not an effective strategy for ensuring education to underprivileged and
lower income groups?

g6aI6 AIRRERI B ¢ 21K, F8Y 6611 TRIAIRT FAIQIR AR AIR IGRR ANQ @6 I8 TRJQ ARG 962 ?
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Options:

1) Monitoring attendance and retention of children from weaker sections regularly

2Rg9R 666110 TRIFINFR QAR G AQEARIRP 657 Q5@

2) Isolation from parents and culture

doirIel G a°gHg Amel @R

3) Setting up alternative schooling facilities in unserved habitations and for other out of-school
children

6091 6AIGIAIR REQI %R G FRIRM AIRRYRI TRIAIGE AR AeR TR, J6AI6 9§ @9l

4) Special teaching support as per need.

2IREHRF 2AIQ6Q G668 §iA8 AL6IT |

Correct Answer: 2) Isolation from parents and culture
doInIel G @°goQ Amel @3

Candidate Answer: 3) Setting up alternative schooling facilities in unserved habitations and for
other out of-school children
6091 6AIGIAIR REQI A%R G FRIRM, AIRRYR TRIAIGE AR AeR TR, J6AIe 4§ @9l

Techofworld.In

QID : 15 - Which of these is not an element of a program for a student who is gifted and talented?

g0a AU 6R66 6191 G goISIRT dnFine AR @IJI9AR @ Al 96w ?
Options:

1) It ensures that the student is placed only among similarly aged students irrespective of interests or
academic levels

21 HEE 96064 22 @1 658 ga AT66IN6R AR AR @AIQ TRIFING A2 QHINIRE

2) It is different in pace, scope, and complexity, in keeping with the nature and extent of the
exceptionality

Jd9eb Q2 OIR 62916Q G 2AARIREG! 2RINER 92| 615, Y6LIG @ RTROIER QY 2I6e

3) It provides opportunities for students to interact socially and academically with both age peers and
peers of similar abilities (intellectual peers)

QUL AAQLq B AAIR QAQI gl ARUIOIR (RPN ARAI0T) AL AINIRS CIP6Q B 668 QIQER GGG
QIR 9L gedicl dele @6al

4) It goes beyond the walls of a school and into the larger community.

12 FRYRAA SIARIPQ 2I6g QRO 661IY] 2P A ARSI

Correct Answer: 1) It ensures that the student is placed only among similarly aged students
irrespective of interests or academic levels
QI 6 @6a6d 2GR @I 668Q 9o AT6686R IRIQ A% KKQ INIAIRE J2 QSIKIRE

Candidate Answer: 2) Itis different in pace, scope, and complexity, in keeping with the nature and
extent of the exceptionality
gqo ae OIf 62I6Q G 2ARIQES! 2RIQEA 92! 61T, J6dis @ RTRIER 8Y 26
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QID : 16 - Samagra Shiksha, the integrated scheme for school education launched by the Union
Ministry of Human Resource Development (HRD), Government of India focuses on all of these other
than

agg &l QIRIR QIR IR 609 AINe A JRIE AREIRG, (HRD) QIal 2IAF 621R2)Q ARYRS, 8-l AR
98 9196 8al 6QIRAI 266, 0121 AFY RI2l QA6R IR B9 QIR ?

Options:

1) quality education

géIae aal

2) promoting vocalisation of education

URIFRS E8I 69186 KRR

3) increasing social and gender gaps in the school education
AR GRI6Q AIFIRR B MEFFIE J6RQ QRIS

4) enhancing learning outcomes of students

JRIAIPEA SiNE PRI @RIRQ

Correct Answer: 3) increasing social and gender gaps in the school education
QIR ERI6Q AIFIRR B REPFIE J6RQ QIR

Candidate Answer: 1) quality education

Techofworld.In

QID : 17 - Underachieving children show most of these characteristics other than

216101Q @7 ATRS| AIRR)R! TRIAIER QP10 NGPR AIQ 2RAI°E 6@@@‘1 godie @ag Q@ ?

Options:

1) Participates actively and engages in class discussions
AR ARER 2°GIGRE F6R B 656116)2 IEMERIER NG B

2) Low Self Image

f6 BaA6R @7 A8

3) Lack of Interest in school work

FRA @1J46Q 21gLA AR

4) Use of defence mechanisms and excuses

Ml 6R16R B QIRIPI QIPLIQ FAR!

Correct Answer: 1) Participates actively and engages in class discussions
AR AER A°EIGRE R6Q G 666116)2 AIBRIGRIER NG B

Candidate Answer: 1) Participates actively and engages in class discussions
A9, QIQER 2°EIPREl KEQ B 65lE11GR ZIEMIPRIER QUG TN

«
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QID : 18 - Socially backward children can be integrated into the classroom using which of these
techniques?

AR AR U5 R TRIFIEH 66 6aldR AIRLIR A8 6661166 TFIERE 62IRAIRES ?
Options:

1) Increasing social and gender gaps in the school education

QYR SRdIEa AIFIRR 8 AEPEIE J6aQ RIRAI

2) Using Bilingual Instruction

S8R gonl 4eLIa @A

3) Insisting on these children being at par with the other children in the class

@ GRIAING 6616116Q 2R TRIE A2 Q!

4) Citing abstract examples rather than those experienced by the child on a day to day basis
AR 6FRR P1ORER 6RYRR AILAE AR AFJA AAILAE 6QQ

Correct Answer: 3) Insisting on these children being at par with the other children in the class
@ JRIAIeg 64l8116a 24 dmie a2 Q!

Candidate Answer: 4) Citing abstract examples rather than those experienced by the child on a day
to day basis
dRl 6500 1eAER 60420l AIRAE FEIR 2FE AQIZAE 6XQ

TechoﬂNoHdIn

QID : 19 - A multigrade teacher must be able to facilitate all these aspects except_____

R Q6681 ae Q1910 1 4Ag QFeRIaR gaul 699160 ARA el APe?

Options:

1) teacher should not only be a provider of knowledge but should also be a facilitator of learning both
at a group level and on a one-to-one basis

G890 6RQR Q66 RINAIC! 62607, BQ RGO AINER B A1FEIE AIRER VIR ALINR AUFER FILY FAR AFQ

2) be able to mativate them to learn and guide them though their learning materials.

6QFIRG &iglQl AR 60IQITE @RQI dIEl AVF 6291 QY B 6AAING FAAINFA SIRE AIAgIR 2l Jede @t
A/ 6291 AGQ

3) teacher should be able to understand differences between pupils and cater accordingly

e JRIFIRE FrIEQ 29l J6Re FIEIQI AF] G 6ARAR QI 6091 ATY

4) teacher should aim to stay within the curriculum and ensure that all children are trained as per the
curriculum

S4Q AI0YQA ArIER 0291 AR AAY QEE! QY G AFE @9l 9 60 A9 TR AI0YRA BAIeea JARE 62IRaR

Correct Answer: 4) teacher should aim to stay within the curriculum and ensure that all children are
trained as per the curriculum
S8 Q10499 FrIER 029! AIR RYY QE QI QDY G AEe @Rl QDY 64 A9 TR AI0YeR BaIRea 0ARE 62IRaR

Candidate Answer: 1) teacher should not only be a provider of knowledge but should also be a
facilitator of learning both at a group level and on a one-to-one basis
SRR 6RQR P66 RINQIOI 62607, g PRGIC AUAER B Q1FEIC AIRER SAIQ ALINR AIRER AIY RARI ABQ
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QID : 20 - Expert teachers are in possession of all knowledge and expertise within the classroom.
Students are viewed solely as the "receptors"” of knowledge and information. This kind of learning is
termed as

66161162 FRIER F66IT SRR AAg JRIQ RIR NQ° QAG! BeIN | fIRFING KIP '2ILQSRIAT QIRER
6QSINIRRIN.. ORI F]IQ F6l RICIRRIN?

Options:

1) Teacher centred Approach
8@ 69Q1@ ARG

2) Student centred Approach
206051 80

3) Hands-on Approach
Q66 a8d

4) Inquiry- based approach
AQARINIRS ARG

Correct Answer: 1) Teacher centred Approach
8@ 6091@ ARG

Candidate Answer: 1) Teacher centred Approach

| Techofworld.In

QID : 21 - Which of these is an advantage of student-centred Approach?

IO ARIQ Q6 RIEEL1R ARHQ I8 MIQ 266 ?
Options:

1) Because students are talking, classrooms may often be noisy or chaotic

6629 JRIFIER @2l @217, 604 66616)@ ERIRIRR QI 94g RS

2) Because the teacher doesn't always deliver instruction to all students at once, some students may
miss important facts

RI08 686 AGQI AQ TRIFING 66157 2Q6Q GERI 6AIGIRAAIG, 606 @2 dmI JREJE 2l 16 QI2Ig

3) Students learn to direct their own learning, ask questions, and complete tasks independently
dRicler Rea 8, J6 APRQI 8 QRINE QIR AITY AR KQQI &6

4) Some students prefer to work alone, so group work can become problematic

78 ORI 9@l fIdY @RRIg 09Q Q6Y, 604 AREIe @11 QI Y @Qalea

Correct Answer: 3) Students learn to direct their own learning, ask questions, and complete tasks
independently
dRIFI6R PR 8dl, 9F I0IQl B QIR AQER QIKY AR RAQ| &g
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Candidate Answer: 3) Students learn to direct their own learning, ask questions, and complete
tasks independently
driFier Pea 8dl, 9§ JoRQl G QIR AIRER RIKY AMIeR @QQ! Ssg

QID : 22 - Human voice, telephonic conversation, audio discs/tapes, gramophone records, Radio
broadcast comes under which category TLM's (Teaching learning materials)?

FIRe g6, 66METIR RRURIG, GG §g/66, CIEFIETIR 60RT, 6006 6510aIY TLMA 672G a6 (886
QRG] 2RITP6ER 26 ?

Options:

1) Audio TLM

AP6 TLM

| @chofworld.In
2R TLM \

3) Pictorial TLM

Jsgiczim TLM

4) Non-Projected three-dimensional TLM

60169 62/RReQl 5R-2KF G8g TLM

Correct Answer: 1) Audio TLM
266 TLM

Candidate Answer: 1) Audio TLM
256 TLM

QID : 23 - Competency-based education showcases all of these aspects except

6QIGHE-REIY &l Q4910 IAAYAYQER @RI |

Options:

1) a high degree of critical thinking and problem solving

LRI DENAIE)e @@Q (B A1yl AR

2) instruction can be boring for students. Their minds may wander, and they may miss important
facts

goql IRIFING SageRdIEa | AAINGA (18 6816066 JIRAIER B 6arlsh gRedd 024 810 AIRAIRE

3) students receive rapid, differentiated support

dmilen 1Y, 26l @Qeel dRI0E! JIRelg

4) offers opportunities for all students, not just the advanced but also those who are struggling
6RQR 6AEFIER RAIR 6aFIRe @6¥, g saciFlen a°ad @ag, A9 I 96AIs 9RIP AREIN

Correct Answer: 2) instruction can be boring for students. Their minds may wander, and they may
miss important facts
Qo0 dRIFING FagetldIea | (AP (6] 6616666 LIRUIER B 6476 QREYE 024 16 JIRUIRG
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Candidate Answer: 4) offers opportunities for all students, not just the advanced but also those
who are struggling
6R0R 6UIFI6R @RAIR 6aFIRE g6, @Y 60iFIER a°ad @aF, ag TaIg geaisl goie @RRIN

QID : 24 - Which of these is not an ideal characteristic of a TLM (Teaching learning materials)?
Jgee ArIQ 62aS TLM(GR6 Qaeas)Q adgg 638§ Q6w ?
Options:

1) Should be as simple as possible

Q2IAAQ AOR 629 APQ

2) Should be proportionate and to the scale

21266 6 QALY AINR 6291 QPR

3) It is the students responsibility to create all TLM's for the teachers
faew AR TLM 9ge @Ael IRFINGQ QI

4) Itis advisable to pre-test the TLM

TLMQ 2Ig2ll AQ18l @3R! aR

Correct Answer: 3) It is the students responsibility to create all TLM's for the teachers
faes AR TLM 9ge @8R! QIPAINGA QUG

Candidate Answer: 3) It is the students responsibility to create all TLM's for the teachers
feee ARl TLM age @QQ! IRAINSHQ QLG

Techofworld.In

QID : 25 - Cheating is often done by the student to

amIcleR Q6QIg ORIA @RI ?

Options:

1) get a higher grade

Qe gQ JIRQl AR

2) because they have understood the content
RIQ81 6QAI6e daL, 9RelNg

3) they don't like surprise tests

6QAIRGE Q0 AT QR REE AIP

4) to help their peers

60FIRE ARAI0TF AIRIY KRR AR

Correct Answer: 1) get a higher grade
Qe 49 ARel AIR

Candidate Answer: 1) get a higher grade
Qe 9o AIRQ! Ain
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QID : 26 - The type of testing used to gauge student learning during the lesson, viewed as more of a
natural part of the teaching and learning process is termed as

QIO 0!I AAYER IR AP AFIIQYQ ANV RIAg, 6AI G SgeIa gee dealg Jeg
QARER FEQOR PAIAN ?

Options:

1) Summative Assessments
6dIGlNe AmYIae

2) Interim Testing

dee@1e aeual

3) Formative Assessments
GIORER ORI

4) Diagnostic Testing
6RRRS AQINE

Correct Answer: 3) Formative Assessments
GoReAe FMILe

Candidate Answer: 3) Formative Assessments

Techofworld.In

QID : 27 - Teachers use many methods to test whether students have understood the topic, which
technique among these is not used commonly by the teachers?

dmiclier a0y ARIEe 9RRF QI PIR GI@l PIFQ! IR SIRAIER 26N dRINR A8FQ AIRINY 6RRAIT,
POMGE FIQ 626 QALY SARFIER ARINEES MRLIR FAF IS ?

Options:

1) Asking open ended questions

QE¢e1 98 A0

2) Repetitive chanting

QAR 2I9@ @&l

3) Giving students a chance to ask questions
dRAING gé APIRRIR Y6QIS 60R

4) Surprise tests

24 aael

Correct Answer: 2) Repetitive chanting
QAR 2R @7

Candidate Answer: 4) Surprise tests
24 Aol
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QID : 28 - Continuous and Comprehensive Evaluation requires teachers to have a good competency,
select the one which is not applicable to improving teachers?

PAQA G QYITR RIS R FILFREFQ AR 6AIGHGI 2ol 2IREHR, FERGE FUQ 6R6E JIRAING QGO FAQI
JIe QALY Q6% ?

Options:

1) lack of insight into course details

QI0YRA FeaeN Al 2Q¢Fa 2IQ

2) knowledge and skills of evaluation to provide remedial teaching

QISR SRR AR ARIAAR IR G O-O!

3) maintenance of records

60@d fdle

4) ability to construct assessment tools that are criterion based appropriate for assessing the
competencies

6QIS1HE! RIINE @RI AIRl QALY QI ARILR QARAE QY *RQIR 6AIGHE!

Correct Answer: 1) lack of insight into course details
QI0YRA FeqeN Al 2Q¢Fa 2aIQ

Candidate Answer: 1) lack of insight into course details

~ Techofworld.In

QID:29- involves helpful, structured interaction between an adult and a child with the
aim of helping the child achieve a specific goal for allowing the child to achieve higher levels of
development.

661 IR Qg B IR &g F1dl 60 QAEAIEN, A°QP0 QIFIRIA KHE Q6R, 6JMER Eige FRId Q AR 9a Q
g1 @RQIQ 2GR 62! IR §ig) § U@ F6ig AAY UIg @AQI6R AIRITY AReIN |

Options:

1) Scaffolding

210 6109

2) Spoon-feeding

QIFIPER QEI\GIGOQIGQ gslm 6QQ
3) Hand-holding

Q-

4) Force-feeding
RQQg-disiael

Correct Answer: 2) Spoon-feeding
PIFIPER YUIREQRIAR SR 6QQ!

Candidate Answer: 1) Scaffolding
291 6109

«
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QID : 30 - Which of these is not an advantage of conducting Role Plays during teaching?

AORER g P8 BRIPIE AALER FIER AIFER FFIRAIA I8 M Q68 ?
Options:

1) Good energizers

am 6159910 26C

2) Promotes empathy of trainees for other situations
2 A8E6 AR 9fifewa afIpROe 6J1QIRE @6Q

3) Encourages creativity in learning

§R16Q YeRIIROIQ 6190 @Gl

4) Unfamiliar teammates may lead to slow progress
QR6Q 2JQ! AQ8P6 A2dI0T 1A 6156a 966 @Q AIQg

Correct Answer: 4) Unfamiliar teammates may lead to slow progress
QR6R 2Q! 2AREE AedIOT M1 6156a 960 @ ARG

Candidate Answer: 4) Unfamiliar teammates may lead to slow progress
QRER 29I AARTE 9201 1A 6166a 66 @8 AIag

[echofworld.In
QID : 31 - 66115~ QB AV JFI6 @6 @61 2
Options:
1) QeI el
2) A90Ye o
3) QU6RIg FIQ 6.IEITE g6e
4) QUERIQ A

Correct Answer: 4) QJ6RIQ 919

Candidate Answer: 4) QQeQIg QA

QID:32-__ I02/91¢ 69Qf Ie° qF QI6Q Rq Qig @5l &isinal |
Options:

1) @1eg4l Q¥eala
2) QI8 QUeR @[B!

3) agaial
4) IR 2yge6
Correct Answer: 3) gl

Candidate Answer: 1) QoQg Q§salél
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QID : 33 - Q94 6QQ&l 21¢] REI?
Options:

1) gRUIGLIRFIN 9ge QT2 ARERE FIIFIER G128 62IRSI 6TREI
2) GxIehe AR 2192 ARIFER g6 621R2)Q! 6JR8l

3) 2ARRQE! FARIFIER G161 621R2)Q| 6JQE

4) 608l

Correct Answer: 1) g@IgRIRRIQ! age PR ARAERE FIRICIER G261 621R2)Q 6dQ8ll

Candidate Answer: 1) QQUIGAIRRIAN IZE @ARJQI ARERE AINFIER G128 621R2QI 6308l

QID : 34 - Qg 9QIRA AQY6R, ALLR 16 eleg' |

Options:

Techofworld

2) 7-10 od

3) 11-15 od

4) 5-8 @9

Correct Answer: 2) 7-10 @4

Candidate Answer: 2) 7-10 @d

QID : 35 - GAIAa Q°0IRR 2R6a T 3e80 @taI |
Options:

1) 1@ OQRIRI AAE!
2) IRISINe /S

3) KIe A9, 6Ql8R
4) RIE5Q| 6wleIR

Correct Answer: 3) H®IQ Q7914 6QI61R

Candidate Answer: 1) §I&@e SgRiQl SR

QID : 36 - gRIa GlIAPIRe ALIRR AYEE, @A A1¢ 266 |
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Options:
1) 8 @ QAR
2) 9 o QUEA

3) 10 @d Qa6
4) 11 @d QJ6Q

Correct Answer: 4) 11 Qd QQ6Q

Candidate Answer: 4) 11 0§ QU6Q

QID : 37 - QIAIQ S8Rl AALER 6194 ALIRIQ QEREY @6 Q@2IN?

catons Techofwor

1) 6Q9R 6MEQl QG| QYO @AIEa AIRITY @RelN

2) 2192191¢ QAVIQ AAg QY6RIE6Q QRS QRIRRIER AR @RRIN

3) d°eR Q6@ @8I AV @ReIN

4) QUEAIQ ARIQ 606G Q6L

Correct Answer: 2) 21921915 QA AFg QF6RIE6Q AR RIRRIEA AV FR2IN

Candidate Answer: 2) 21921015 QIVIQ AFIY QFERIE6Q AIQRET QRIARIEA AVF *QEIN

QID : 38 - ACMGE AIQ 6REE Q1A JPAR ARILAE! 26672
Options:

1) QURYIC 9Q° 2Q6RY

2) @6l 6QIg

3) dI0Y gge

4) AQIQ 2QERQ

Correct Answer: 1) QJRYIQ IQ° 2Q68RQ

Candidate Answer: 1) QJQYI4 IQ° 2Q6RQ

QID : 39 - AIEMIER! FIIFIER F6QEI IQ° §H1, QIS e Gl QE6RI6l 266 |
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Options:
1) 2QQIEe QY68
2) AQE AQAIQ

3) 2QQ4g QUal dal
4) A°QERIR QTERI6l

Correct Answer: 3) 2Q4g QA &
Candidate Answer: 3) 20Q4g QIaI &l

[

QID : 40 - H6c)ig FRIQ 6RGE FVIRINA IR G4I6RE, ?

oo Techofworld.In

1) GRQAI6R YRILALER @20 QAR RIJY fRQ!
2) 21961491 0IQ 2RS TR QBRI 62087
3) FQUIRQ, IEIARA 218l IRl QR

4) Qaealg 9Ag

Correct Answer: 4) QJeIQ Q¢

Candidate Answer: 4) QJealq 9Ag

QID : 41 - “SAIQIA 8 RE° 671649R AR FAGIFIE ARG AR TATR 2I6ALECE] FQAN 266" QARG A8
(603RQR) @4 6RR6M?

Options:

1) €Y B &lad
2) AR

3) eimg

4) Gaaq

Correct Answer: 1) SRER G &qQ

Candidate Answer: 1) QR G &iqa

QID : 42 - RARES QIR1TY ANl @QQI AIR AAYY ARG 0P 0G| F66 NAR, AR RFQAINFA RIR G 6alEIRg
Q4R 6 QBTN @RQ! UIRl R4LIQ *QRIRI AP QU6Q ANTE @UAIRK
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Options:

1) RE°Q 2I6AYEIE)

2) AF° QI6Q 216aA6A14]

3) AR° AADER 2UI6AEFIE,

4) RG° A6l A16aQ6FIE]

Correct Answer: 1) @R0°Q 26Q4671]

Candidate Answer: 2) RF° QI6Q 2I6ACEA]

QID : 43 - §¢] MG FQ 686 66T 9645, AIRI 2gAI6a ALIRRI AAER QTS J4Q g9 690, A0 Q@R
Q6¢ 601 QRIAIRG?

Techofworld.In

1) RP°Q 2l6agq 671

2) @G° AAK6Q 2Al6AEFIE
3) AG° QU6 216ad6A1E]

4) RF°Q 21694 986

Correct Answer: 2) @0° AFEA I6AYEAE]

Candidate Answer: 4) RA°Q 26d9 996

QID : 44 - "JRIFE OB AIRGR 266| J664e 6] Aaga AadR 26]|" adeaiqg QIeYe __ 216s|

@ kY
feI08 @669 AIF
QIR AAG

Correct Answer: 1) O

Candidate Answer: 4) QdeQIq Q¢

QID : 45 - FeP@a a8l 6611G~g QEIQQIQGQ RIF @QRY, 6060168 6AIRAIREE qle'q QIR 26| AR 68960
ARNQEIDS 626 JNINR 6AIGIEE AERIQF 62Q1 ABE Q66 FIdl RAUAIR2IN?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) QERIR K¢4P6aER

2) 20R4IN RIAERER

3) @6dI60Q @YINERER

4) 94 Q1P

Correct Answer: 2) 20@6R @¢iR6asq

Candidate Answer: 3) @6dieaq @¢1P6@6Q

QID : 46 - 666116)R6Q IO ULIRRI AATER R66l FAR 604 KRR AT, AUER AIRP 6291 AIQER?

Options:

e 1 €CHOTfWoOTrld.In

2) Q49 FQEMEIR
3) PgQ 6QIGQ
4) 6015661 QRS

Correct Answer: 2) @49 FQ6REIQ

Candidate Answer: 2) @99 ¢1@6mslq

QID : 47 - T0° QYRR MLLIQ 6@ 6AL6R JeIdl 2667?
Options:

1) R AR SRIFIAIER QA Q6d ARGAIGH 6269
2) 6¢6116)26Q ARPTJR AAQYIg @¢l @RS
3) ARIIFQ AD° AIRCRA] ATAIRR QS |

4) 6g6N6)@6a ERINFA WIR 2IeTE @A |
Correct Answer: 4) 686116260 SRIENFQ AP 2ieds @QQ! |

Candidate Answer: 4) 66616260 §igiEiEa IR SIRTE @RQ! |

QID : 48 - RF6Q FAINLQI SRR AUQ SRS QEIeRIG 096 @ag, ARl §0° AF° AgAg JaIREIR!
QAQI6Q ALY @A FHR AEGY 4916 @ARI At A0 QAR 671 Q1eIR @ag| dRIITa 9T agad
fgighea AR 2eg fa1diea 2I96Q1R a1dIea Aa1da ga dadiwa dleviadia G 28 ftihaq dife
b ol e
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Options:

1) (1).(3) B (4)

2) (4),(5 G (6)

3) (1), (4)6(5)

4) (2),(3) G (6)

Correct Answer: 1) (1),(3)8(4)

Candidate Answer: 2) (4), (5) G (6)

QID : 49 - A0 QAR QIR ER1 G I8 Kag| dQsRRa a0 Q0 266

Options:

s | @CHOTWOTIIA. IN

2) 6061 PRIQ

3) ARG® BREQ

4) QF° OROQ

Correct Answer: 3) QIQG° 6REQ

=

Candidate Answer: 4) Q6° 6Q6Q

QID : 50 - QAYQ 2144, 4@ AL AIGIR GRS AAQ | QISR 6RERAIAI 6R6RA ae allaf=latal
Options:

1) o6@

2) Qe

3) PRCER

4) 516Q

Correct Answer: 3) 0@66Q

Candidate Answer: 3) GQG6Q

QID : 51 - QIR4Eg Aj¢] @8QI Aicl OF QAR PR @Y | 648 AGR TIACER 6R 68 QIF ?

« >
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Options:

1) 6R606I6R

2) 6RQ10

3) 62410

4) @'

Correct Answer: 4) Q'6

Candidate Answer: 2) 602G

QID : 52 - 0@ Qa4 AU Y@ QULY 6aIgIloa Q66184 QR Qg | AYUIme 6¢16] g FURNQI ([~} aGaIg
ce@olom |

s— Techofworld.In

1) am

2) 6F1QUIRR
3) 6716

4) 6Q¢6i6m

Correct Answer: 1) dfm

Candidate Answer: 1) dm

QID : 53 - QALY F661WE QIQU R4 IR JAE eagl 1@ 610Q AIGAG 616 €110 QRAIER ____
Options:

1) QLY

2) A6QIRE

3) gqud

4) oM

Correct Answer: 4) Qf

Candidate Answer: 2) Q¢!

QID : 54 - QAR S AL GRIGR I8 RAG | 67 QRS AIBICIE FELER |

«
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Options:

1) 2Q6AIG @Q-
2) aR6aIG

3) 2GS @6
4) 2R6AI0 @AM

Correct Answer: 4) 2G64I6 @QelRl

Candidate Answer: 1) 2@6dI6 @Q&

Techofworld.In

QID : 55 - RIMEE SQ46Q YRR AR6 ARg 19 HFR B2l AIRRQI 96 JPRa QAR H2Q : AIRGER 66Mae
AACREQAER 4G 6RQEIH QIR FRRIEA ARIAR 296 29 696R QPR Q1 6aITEI @QRE 64 2020 ATQ!
gl QIe0 56 6REGH QIR @AQ, IR AR AIF AP AR A0 2°66a AFBAFIL AINFRRS A°gIR, F68061,9e°
6QQI JOIRRIQIAING QIR FIRIQ RAILIRE | GaId AQG1L, AEACQAIEE QAL QFERIE] 56 2IaA @ARI 60Q
AR 2IPING AIF) QR | 2QFIE1N AAEREQAING QRAIEA 6AFING TISER §Q @F 65F 281 Q! 6aAIRTa
AARIRAI 8iF QB QQRINI| 6AAINE AIQ ZAR FARER QECIERE | 9 656QIERINER H6Q4 621R2)R! 218 6TPag
(Peeel g6R @OR 90 6569IEAIE 2IRF PRRI RTROI 2IPR AQIR QAR | @FICIE AIRER Y 62a2jQl gOR
606QI6MIER AR 9e° 2iGlIFT R6Q 21T 29I 56 2 LIS 10 I9° BUIAe AAEE AIQ6e RQR |
QI 901 98 6809 9194 I9° AP A6Fon JP6AIGN FERIRIQ F6E Je | go6MICNNIER Q@R gag 9e° 96
3 QIFIRA 6901 AR QUEAIPIAING GIRQI 2AEACQAINE BA6Q 56 6Q PERE @RI Q1010 2RY 6RIEIT @9@“

QRIS |

5GQ Q¢ 9a @617
Options:

1) ga

2) 6R6R6Q61Q

3) 662l

4) g

Correct Answer: 2) 6R6R6Q6IQ

Candidate Answer: 2) 6R606Q6IQ
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QID : 56 - AqAEE GRER AP ARG AQQ IQ° RYER B2l AIRAI 9¢ JPaa e 2y : AIREER semar
AAERCQANER 4G 6RFEIS IR FAIER AKIAT 2961 2SI 6967 QRAFIA A1 6aITEI @AaF 64 2020 Adel
gel QIQe 56 6RQEE oI FAQ, Y@ AR, A1Fl ARl §EQ FER 2°66a 2R8I AINRRAS 9°gIR, 96961,9Q°
6991 RIRRIAIAIRG QIAl 19IR FAILIRE | 02T AR ATERSQRAIER Q1 QFRISQ 5G 2R RAQ! 6P
26r 2IFIRY Il *RET | AQEIPIK ATEACQAINT QRAICR 6AFIRE TILER ¢ @F 64RF 28| 21 6AFIRTa
JROIRGI 616 @8 @TR2IN | 6AAIRE CRIQ A6RE FARER QOCIEME | J9 666RIRIRER H6as 621R2Ql 212 6TFag
fRReQl 6@ ROR 90 6569IEAIR 2IRA @AQI FTRGI 2IgR APIR 6RAR | RAISIE AIRER I 629 RO
666QIEMIRR QARSI 9e° 2IGlIFN BR6R 2ITQIQ &I 56 2@ ALINE F16 9e° RYIFR AQ6RE 21961e @ga |
921 B01 @ 68190 QIgY 96 QA A6F6R gGsaIaT AsRIIe JGF Je | g0l A1 gae 1e° 9o
8 ARAINR 639! Alsl AACAIFIAING IRAI AACACQAING Felsg 56 66 H6as @RI @116 2R 6716d Fag
QHRIZ|

4G 9Q° 5G «'81?

Techofworld.In

1) @eleag 64al

2) \1Q6eeRdq 6aQl

3) @R 64!

4) 6APIAIG ERFEIH 66QERINGT 6AQ

Correct Answer: 4) 6AQIRIR 6RFEIM 6ERERIMGT 6QQ

Candidate Answer: 4) 6dQIRIQ 6RREIP 66QERINGT 6AQ

QID : 57 - RARO €46 IR ARG AQQ 1Q° A B2l AIRgQl 94 4oRa e aQ : QIA06a 66Rae
2d6QEQFIER 4G 6RQGIH OIQ ARRIR ARIFR 2QYIER QI 6R6R QRAIA FIg1 6aITEI @Reg 64 2020 ATQ
gel QI 5G 6RYGH 9IR FAS, IR A 417 QIR g R 2°5i6a 28I AIRRRAS a°giR, 36g01,9e°
6091 JRIRRIIFIRG IRl Q19IQ *ALIRE | F2Id ARSI, ATCACQFIER QAT QFERIEQ 56 2R @AQ 7R
26R@ 2IPIRG AIFl @QAY | AQEI1N EAACACRAING QRAICA CAFIRE CIsER §Q F 6gYF 28| 121 6afINEa
AARIRAI 67 Q8 @RRIN| 6AFIRE FRIQ AR FARER QRCIEME | JS 6C6RIEMIRER F6Q6 621R2IQl 212 6arag
ARREQ! Z6m @OR 90 6567IEMIR 2IRF ARQI FTRG 2IPR ARIR 6RAR | RAISIE ARER 4 626 @OR
666QIEMIFR QYIAREI IQ° ZlIGIF TRER 2IETQIg 2191 56 2P AN P10 9e° HUIA AA6E AIQEe @R |
921 G391 99 6800 Q194 99 QIeea Aderon Jo6LIe FeRIaIe 900 Je | go6MIsN0Iea Q8a g ¥e° 9F
8 QEFINA 6aQ! AR AUERAIFIFINE GITA! 2AREQAINT FF6Q 56 60 P68 @RQI @161 2RY 6alad @@@u

Slolaling

@ QYI69R SQAIER 619 ‘AFER’ Q TeRIHA @'61?
Options:

1) Q6% Jal

2) 6AUIRQ!

3)3gQ
4) oRg ¢del
Correct Answer: 1) @@iG dal

Candidate Answer: 3) J¢ia
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QID : 58 - AFIAEIE FIR4PER UIRQ A6 AQQ IQ° BEer A2 AIRLR! 9§ JPea AaQ G219 : 2I6RIRA Jo1R 62
gyl

26l 6L606R6R 671l H19AG 2T ANV Q60R 69R

2108 edledia JaIRE! RIER A8 637Q AYOIER AQH 62R TR 67, 671 A06a 9gFe 6aml

q 996 AEAIRA 66IMIA @G0l ARG oA ¢ @9ga 9dl 2IQ FLRA Qe AIRGTA QI @RI AR L6RR
6|

99 AQY6a g4 @19l 980 QRRI AIKING?

Options:

1) Q2 21ea TeChOfworId g In

2) 2leAR
3) 4RREIRG!
4) QasRIg AAIY

Correct Answer: 4) QJ6QIQ A

Candidate Answer: 4) QdeQIq QA4

QID : 59 - FREE G1Q4IEIQ UIEQ A8E Qg 9e° Prlea D21 ARSI 96| o AaQ @21@ : dleRIRa o168 62
gdy!

206 6L606@6R 671l F1RQ 2IT6M ARVIQ Q60R 69R

Jaaee edledia NG RIEIR 2106 670 AYOIEa agel 62 Qe 61y, 661l o6a 9geo cam

d 99% A9aIHa 66IMIA @Fi0! AING 6 ¢ @2ga @dl 2IQ (IR Qe IREM ALl @9l 1eRg G6RR
6ol |

6TIREIR 1R @617
Options:

1) 2669 AR 1Y
2) Jiq g1

3) 3 gNROIQ AIFIRY 2@
4) ¢IQ 202 919

Correct Answer: 1) 26060 2I0R §1R

Candidate Answer: 1) 216060& 21dR 91
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QID : 60 - RGOS 6Q4I°6IQ UAQ ATE APY \1e° HEER T2 ARSI g6 R AaQ d2g : AR JO1R 62
afall

28 6060696R 67l 2197 2IT6M 2LNIQ P6AR AR

d alaee ediedia F6IRcI RIER 218 69AR AYOIER AgH 62R QYR 617, 671 Bo6a gYFe el

g 99% AR 66IMIA @G0l ARG oM ¢ @Aga @4l 2IQ AR 2GRS IRGE 2 @g2Q! QPG KRR
(Salal)

PARYE FUQ 6266 ‘AN Q T6RIRA 21662

Options:

Techofworld.In

2) 69R

3) 659

4) AI96REIR

Correct Answer: 3) 66'q

Candidate Answer: 1) QQIQQ

QID : 61 - The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

They fly / to visit their parents / in Toronto last week.
Options:

1) They fly

2) to visit their parents

3) in Toronto last week.
4) No Error

Correct Answer: 1) They fly

Candidate Answer: 2) to visit their parents

QID : 62 - Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

All work and no (plays makes) Jack a dull boy.
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Options:
1) play making
2) playing makes

3) play makes
4) No correction required

Correct Answer: 3) play makes

Candidate Answer: 3) play makes

Techofworld.In

QID : 63 - A sentence has been given in Active/Passive voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active voice.

Was he playing cricket?

Options:

1) Will cricket being played by him?
2) Cricket was being played by him.

3) Was cricket being played by him?
4) Has cricket been played by him?

Correct Answer: 3) Was cricket being played by him?

Candidate Answer: 2) Cricket was being played by him.

QID : 64 - Select the word that fills in the blank correctly and completes the sentence meaningfully.
Sheila is for her age.

Options:

1) taller

2) tallest

3) tall
4) more taller

Correct Answer: 3) tall

Candidate Answer: 1) taller

« >
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QID : 65 - Select the word that fills in the blank correctly and completes the sentence meaningfully.

Sonia had many secrets, and was not sure whether to in him.
Options:
1) condemn

e T@achofworld.In

4) confidence
Correct Answer: 2) confide

Candidate Answer: 4) confidence

QID : 66 - Select the word that is closest in meaning (SYNONYM) to the word given below.
Impute

Options:

1) Inefficient

2) Skilled

3) Attribute

4) Huge

Correct Answer: 3) Attribute

Candidate Answer: [ NOT ANSWERED ]

QID : 67 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
Zest

Options:

1) Zeal

2) Indifference

3) Straight
4) Content

Correct Answer: 2) Indifference

Candidate Answer: [ NOT ANSWERED ]
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QID : 68 - Select the word that is spelled correctly.
Options:

1) Twefth

2) Twelth

3) Twelfth

4) Twelt

Correct Answer: 3) Twelfth

Candidate Answer: 2) Twelth

QID : 69 - Select the most appropriate ‘'one word ' for the expressions given below.

Using or imitating the language and thoughts of another author without authorization and the
representation of that author's work as one's own

Options:

D e Techofworld.In

3) Unintelligent
4) Plagiarism

Correct Answer: 4) Plagiarism

Candidate Answer: 1) Uncanny

QID : 70 - Select the option that best expresses the meaning of the idiom or phrase given below.
‘To hit the nail on the head’

Options:

1) to do something badly or cheaply

2) to fight with someone

3) to describe exactly what is causing a situation or problem
4) to break relationships with others

Correct Answer: 3) to describe exactly what is causing a situation or problem

Candidate Answer: 1) to do something badly or cheaply
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QID : 71 - How many parts is any basic composition comprised of?
Options:

14

2)3

3)5

4)6

Correct Answer: 2) 3

" Techofworld.lr

QID : 72 - Which of the following is false about speech writing?

Candidate Answer: 4

Options:

1) Concrete details should be used to keep people interested
2) Short sentences should be used

3) Complex words should be used

4) Contractions should be used

Correct Answer: 3) Complex words should be used

Candidate Answer: 1) Concrete details should be used to keep people interested

QID : 73 - Putting the data collected in a proper table while writing a report is known as

Options:

1) Tabulation

2) Figurative Representation
3) Interpretation

4) Analysis

Correct Answer: 1) Tabulation

Candidate Answer: 3) Interpretation

QID : 74 - Which among these is not a salient feature of Letter Writing?
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Options:

1) Polite greeting or salutation

2) The signature

3) The address or superscription on the envelope
4) Using complex words

Correct Answer: 4) Using complex words

Candidate Answer: 4) Using complex words

QID : 75 - Which of the following is not a reference material?

Options:

i Techofworld.In

3) Encyclopedia
4) Dictionary

Correct Answer: 2) Textbook

Candidate Answer: 3) Encyclopedia

QID : 76 - The Cambridge International Dictionary was published in the year

Options:

1) 1996
2) 1990
3) 1995
4) 1998

Correct Answer: 3) 1995

Candidate Answer: 3) 1995

QID : 77 - The oral medium of transmission of language is known as
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Options:

1) Speech
2) Tone

3) Message
4) Dialect

Correct Answer: 1) Speech

Candidate Answer: 4) Dialect T e C h OfWO

QID : 78 - Which among these is not a Higher Order Language skill?
Options:

1) Using figurative expression

2) Having the ability to draw inferences and conclusions
3) Developing good vocabulary

4) Making simple sentences

Correct Answer: 4) Making simple sentences

Candidate Answer: 2) Having the ability to draw inferences and conclusions

QID : 79 - Who is an audience?
Options:

1) The people or person who gives out a speech
2) The people or person acting in a drama

3) The people or person who receives a message
4) The people or person critiquing a piece of work

Correct Answer: 3) The people or person who receives a message

Candidate Answer: 1) The people or person who gives out a speech

QID : 80 - Using of a Thesaurus is a part of
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Options:

1) Listening skills

2) Referencing skills

3) Higher Order Language skills
4) Speaking skills

Correct Answer: 2) Referencing skills

Candidate Answer: 3) Higher Order Language skills

Techofworld.In

QID : 81 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Stonehenge is a prehistoric monument located in the English country of Wiltshire, about 8 miles north
of Salisbury. One of the most famous prehistoric sites in the world, Stonehenge is composed of
earthworks surrounding a circular setting a large standing stones. Archaeologists believe that the
standing stones were erected around 2200 B.C. and the surrounding circular earth bank and ditch,
which constitute the earliest phase of the monument, have been dated to about 37100 B.C. The site
and its surroundings were added to the UNESCO's World Heritage Sites in 1986 in a co-listing with
Avebury henge monument, and it is also a legally protected Scheduled Ancient Monument.
Stonehenge itself is owned by the Crown and managed by English Heritage while the surrounding
land is owned by the National Trust.

Where is Stonehenge monument located?
Options:

1) Wiltshire

2) Salisbury

3) Avebury
4) New Zealand

Correct Answer: 1) Wiltshire

Candidate Answer: 1) Wiltshire
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QID : 82 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Stonehenge is a prehistoric monument located in the English country of Wiltshire, about 8 miles north
of Salisbury. One of the most famous prehistoric sites in the world, Stonehenge is composed of
earthworks surrounding a circular setting a large standing stones. Archaeologists believe that the
standing stones were erected around 2200 B.C. and the surrounding circular earth bank and ditch,
which constitute the earliest phase of the monument, have been dated to about 3100 B.C. The site
and its surroundings were added to the UNESCQ's World Heritage Sites in 1986 in a co-listing with
Avebury henge monument, and it is also a legally protected Scheduled Ancient Monument.
Stonehenge itself is owned by the Crown and managed by English Heritage while the surrounding
land is owned by the National Trust.

When was Stonehenge and its surroundings added to the UNESCOQ's World Heritage Sites?
Options:

% TeChOfWO rld An

Correct Answer: 3) 1986

Candidate Answer: 3) 1986

QID : 83 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Stonehenge is a prehistoric monument located in the English country of Wiltshire, about 8 miles north
of Salisbury. One of the most famous prehistoric sites in the world, Stonehenge is composed of
earthworks surrounding a circular setting a large standing stones. Archaeologists believe that the
standing stones were erected around 2200 B.C. and the surrounding circular earth bank and ditch,
which constitute the earliest phase of the monument, have been dated to about 3100 B.C. The site
and its surroundings were added to the UNESCQ's World Heritage Sites in 1986 in a co-listing with
Avebury henge monument, and it is also a legally protected Scheduled Ancient Monument.
Stonehenge itself is owned by the Crown and managed by English Heritage while the surrounding
land is owned by the National Trust.

Stonehenge is owned by the

Options:

1) UNESCO

2) National Trust
3) English Heritage
4) Crown

Correct Answer: 4) Crown
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QID : 84 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Stonehenge is a prehistoric monument located in the English country of Wiltshire, about 8 miles north
of Salisbury. One of the most famous prehistoric sites in the world, Stonehenge is composed of
earthworks surrounding a circular setting a large standing stones. Archaeologists believe that the
standing stones were erected around 2200 B.C. and the surrounding circular earth bank and ditch,
which constitute the earliest phase of the monument, have been dated to about 3100 B.C. The site
and its surroundings were added to the UNESCO's World Heritage Sites in 1986 in a co-listing with
Avebury henge monument, and it is also a legally protected Scheduled Ancient Monument.
Stonehenge itself is owned by the Crown and managed by English Heritage while the surrounding
land is owned by the National Trust.

Which among the following is not true about Stonehenge?

= Techofworld.In

1) It is a prehistoric monument located in the English country of Wiltshire.

2) It is composed of earthworks surrounding a circular setting a large standing stones.

3) It is owned by the Crown and managed by National Trust

4) The site and its surroundings were added to the UNESCQ's World Heritage Sites in 1986

Correct Answer: 3) Itis owned by the Crown and managed by National Trust

Candidate Answer: 2) Itis composed of earthworks surrounding a circular setting a large standing
stones.

QID : 85 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Stonehenge is a prehistoric monument located in the English country of Wiltshire, about 8 miles north
of Salisbury. One of the most famous prehistoric sites in the world, Stonehenge is composed of
earthworks surrounding a circular setting a large standing stones. Archaeologists believe that the
standing stones were erected around 2200 B.C. and the surrounding circular earth bank and ditch,
which constitute the earliest phase of the monument, have been dated to about 3100 B.C. The site
and its surroundings were added to the UNESCOQ's World Heritage Sites in 1986 in a co-listing with
Avebury henge monument, and it is also a legally protected Scheduled Ancient Monument.
Stonehenge itself is owned by the Crown and managed by English Heritage while the surrounding
land is owned by the National Trust.

Archaeology is the study of
Options:

1) ancient things

2) law

3) fossils
4) oceans and their phenomena
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Correct Answer: 1) ancient things

Candidate Answer: 2) law

QID : 86 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

According to some estimates, if we could compile the amount of food, land, water, and energy used
to raise the 10 billion animals slaughtered each year for meat, we could use those resources to feed
every single starving person on earth. The majority of these resources are depleted by concentrated
animal feeding operations (CAFOs). CAFOs are factory farms that mass-produce livestock—harming
animals, the environment, and humans in the process. It is true that these farming methods provide
an abundant source of food and employ thousands of workers across the country. However, CAFOs
should be placed under more stringent restrictions because of their unfair treatment of animals and
the harm they do to both the environment and humans. One of the key controversies surrounding
factory farms is animal rights. Factory farms raise livestock indoors, as opposed to allowing the
animals to graze in fields and pastures. The farmers favour this overcrowded environment because it
maximizes profits. Providing less space for the animals costs less money; filling pens to their
maximum capacity ensures that no space is wasted. Consequently, animal pens are often so small
that larger animals cannot lie down or turn around. In some cases, these small cages are beneficial
for more than just maximizing capacity: calves, for example, do not gain muscle mass in this
environment. This keeps their meat more tender, which makes it more attractive to consumers.

What are CAFOs?

orions Techofworld.In

1) Factory farms that produce live stock in large numbers in an compact and enclosed space.
2) They are open pastures for animals to graze.

3) They are efficient ways to feed animals.

4) They are Poultry Farms.

Correct Answer: 1) Factory farms that produce live stock in large numbers in an compact and
enclosed space.

Candidate Answer: 1) Factory farms that produce live stock in large numbers in an compact and
enclosed space.
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QID : 87 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

According to some estimates, if we could compile the amount of food, land, water, and energy used
to raise the 10 billion animals slaughtered each year for meat, we could use those resources to feed
every single starving person on earth. The majority of these resources are depleted by concentrated
animal feeding operations (CAFOs). CAFOs are factory farms that mass-produce livestock—harming
animals, the environment, and humans in the process. It is true that these farming methods provide
an abundant source of food and employ thousands of workers across the country. However, CAFOs
should be placed under more stringent restrictions because of their unfair treatment of animals and
the harm they do to both the environment and humans. One of the key controversies surrounding
factory farms is animal rights. Factory farms raise livestock indoors, as opposed to allowing the
animals to graze in fields and pastures. The farmers favour this overcrowded environment because it
maximizes profits. Providing less space for the animals costs less money; filling pens to their
maximum capacity ensures that no space is wasted. Consequently, animal pens are often so small
that larger animals cannot lie down or turn around. In some cases, these small cages are beneficial
for more than just maximizing capacity: calves, for example, do not gain muscle mass in this
environment. This keeps their meat more tender, which makes it more attractive to consumers.

In the example given for calves, why don't claves gain muscle mass?

»~  Techofworld.In

1) because the pens are filled to their maximum capacity.

2) Because the pen size is too small to lie down and rest.

3) Because they are improperly fed.

4) Because they are raised indoors and allowed to graze in the open pastures.

Correct Answer: 2) Because the pen size is too small to lie down and rest.

Candidate Answer: 1) because the pens are filled to their maximum capacity.

QID : 88 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

According to some estimates, if we could compile the amount of food, land, water, and energy used
to raise the 10 billion animals slaughtered each year for meat, we could use those resources to feed
every single starving person on earth. The majority of these resources are depleted by concentrated
animal feeding operations (CAFOs). CAFQOs are factory farms that mass-produce livestock—harming
animals, the environment, and humans in the process. It is true that these farming methods provide
an abundant source of food and employ thousands of workers across the country. However, CAFOs
should be placed under more stringent restrictions because of their unfair treatment of animals and
the harm they do to both the environment and humans. One of the key controversies surrounding
factory farms is animal rights. Factory farms raise livestock indoors, as opposed to allowing the
animals to graze in fields and pastures. The farmers favour this overcrowded environment because it
maximizes profits. Providing less space for the animals costs less money; filling pens to their
maximum capacity ensures that no space is wasted. Consequently, animal pens are often so small
that larger animals cannot lie down or turn around. In some cases, these small cages are beneficial
for more than just maximizing capacity: calves, for example, do not gain muscle mass in this
environment. This keeps their meat more tender, which makes it more attractive to consumers.

What does CAFO stand for?
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Options:

1) Controlled animal feeding operations.

2) Concentrated animal feeding operations.
3) Compact animal filter operations.

4) Centred animals feeding operations

Correct Answer: 2) Concentrated animal feeding operations.

Candidate Answer: 2) Concentrated animal feeding operations.

TechoﬂNoHdIn

QID : 89 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

According to some estimates, if we could compile the amount of food, land, water, and energy used
to raise the 10 billion animals slaughtered each year for meat, we could use those resources to feed
every single starving person on earth. The majority of these resources are depleted by concentrated
animal feeding operations (CAFOs). CAFOs are factory farms that mass-produce livestock—harming
animals, the environment, and humans in the process. It is true that these farming methods provide
an abundant source of food and employ thousands of workers across the country. However, CAFOs
should be placed under more stringent restrictions because of their unfair treatment of animals and
the harm they do to both the environment and humans. One of the key controversies surrounding
factory farms is animal rights. Factory farms raise livestock indoors, as opposed to allowing the
animals to graze in fields and pastures. The farmers favour this overcrowded environment because it
maximizes profits. Providing less space for the animals costs less money; filling pens to their
maximum capacity ensures that no space is wasted. Consequently, animal pens are often so small
that larger animals cannot lie down or turn around. In some cases, these small cages are beneficial
for more than just maximizing capacity: calves, for example, do not gain muscle mass in this
environment. This keeps their meat more tender, which makes it more attractive to consumers.

How does factory farms violate animal rights?
Options:

1) Through unfair practices like raising livestock indoors, overcrowding the pens and using much
smaller pens for larger animals.

2) By absurdly wasting resources on live stock.

3) By harming the animals, environment and in process humans.

4) By maximizing profits.

Correct Answer: 1) Through unfair practices like raising livestock indoors, overcrowding the pens
and using much smaller pens for larger animals.

Candidate Answer: 1) Through unfair practices like raising livestock indoors, overcrowding the pens
and using much smaller pens for larger animals.
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QID : 90 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

According to some estimates, if we could compile the amount of food, land, water, and energy used
to raise the 10 billion animals slaughtered each year for meat, we could use those resources to feed
every single starving person on earth. The majority of these resources are depleted by concentrated
animal feeding operations (CAFOs). CAFOs are factory farms that mass-produce livestock—harming
animals, the environment, and humans in the process. It is true that these farming methods provide
an abundant source of food and employ thousands of workers across the country. However, CAFOs
should be placed under more stringent restrictions because of their unfair treatment of animals and
the harm they do to both the environment and humans. One of the key controversies surrounding
factory farms is animal rights. Factory farms raise livestock indoors, as opposed to allowing the
animals to graze in fields and pastures. The farmers favour this overcrowded environment because it
maximizes profits. Providing less space for the animals costs less money; filling pens to their
maximum capacity ensures that no space is wasted. Consequently, animal pens are often so small
that larger animals cannot lie down or turn around. In some cases, these small cages are beneficial
for more than just maximizing capacity: calves, for example, do not gain muscle mass in this
environment. This keeps their meat more tender, which makes it more attractive to consumers.

Why should CAFOs be placed under stringent restrictions?

- Techofworld.In

1) Because they harm the environment and humans.

2) Because they deplete the heavily drain the resources.

3) Because they violate animal rights.

4) For their unfair treatments towards animals and environment and humans.

Correct Answer: 4) For their unfair treatments towards animals and environment and humans.

Candidate Answer: 4) For their unfair treatments towards animals and environment and humans.

QID : 91 - In the mathematics class, Communication refers to developing the capacity .

ARER ORI @6al

GIEIe 661666, 6LIGIEHIG @R6R
Options:

1) to explain the data by looking at the bar graph

Q16 I 6Q6 el @IS @6&

2) to give prompt response to questions asked in the class
661616Q AR JGYERR COTE FRIQ 609l

3) to organise, consolidate and express mathematical thinking
CIEDR BRIReR ©°600, IP1RRE I@° dals @EQIdIR

4) to contradict the views of others on problems of mathematics
6160 AAQYIR BALER ARYR ARIFS TR QR

Correct Answer: 3) to organise, consolidate and express mathematical thinking
CIEDR BRIRIer ©°600, IR1RRE I@° dals @EQIdIR
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Candidate Answer: [ NOT ANSWERED |

QID : 92 - A pupil was asked to add 21 to 100, but he wrote 112 after adding. To rectify such error
committed by the pupil, which of the following methods should the teacher adopt?

@66 219g 100 6Q 21 64IG ARG @2 G, ¥ 6416 AR A6 112 6RGYAYR | VIR 8 9T AEERIE AR
dIg, FIRRER RGO 6aal 80 29RER FAQ A56?

Options:

1) To give exercise on counting the numbers
a°glil G61R1 PAFER 2A96NRR @TQ!

2) Explain the place value of the digits
2FPERa IRQ AINg QIS @AQ!

3) Practising addition

Fisle @ 2QuIa @QQ!

e T@chofworld. In

ang Seq ade

Correct Answer: 2) Explain the place value of the digits
AFGPRR YO AIPG @HIS @QQ!

Candidate Answer: 4) All options are correct
ang 9eq abe

QID : 93 - NCF 2005 emphasises on which of the following?

A6Q 6966 IRENT 2005 QAR gRY @9?
Options:

1) Succeeding in mathematics should be compulsory for every child
QEiceR AITRY 966 AgFAR QUSRS 6291 AFE

2) Mathematics shall be taught to selective students

A9100 g cEo enQg 699

3) A student should be tested first for their logical-mathematical ability
R66 8109 2l6F 01Q JR-618100 Q6! dIl AR @I Q66

4) Mathematics curriculum shall be separate for low achievers

GEioR AI0IPFE @F 9°¢iie AFa QY2 dniE dis JAIR 6291 GE9

Correct Answer: 1) Succeeding in mathematics should be compulsory for every child

68i06a QIraY 9o igaale QIR 6211 GBS

Candidate Answer: 1) Succeeding in mathematics should be compulsory for every child

0806a QPR 95T Sgaald QIR 6211 A5
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QID:94 - is not a practice to be followed by the teacher in a mathematics class.

Q80 6616116Q SRR QAR @R 2 QAN P12 |
Options:

1) Encourage thinking through simple examples

d9R QQILQE AIAR OQIRIeRIQ QAQIRE QA9

2) Encourage thinking through real life examples

QIZQ R19RQ ALIRREYER FIIFIER PQINRIY AQIBe Fae!
3) Creating an opportunity for self-assessment
QRIS A6l IR g6QIE 9Y0 @QQ!

4) Working out all the problems

ang anayl Sagea Q1Y @Al

Correct Answer: 4) Working out all the problems
afg aAayl Sagea IFY @R

Candidate Answer: 1) Encourage thinking through simple examples
d9R QAI2QS AIAR ORIRIeRIe ALIEe @59

Techofworld.In

QID : 95 - Kunal is studying in class V. He can classify various types of triangles in different
categories but has difficulty in understanding the abstract proof for the sum of three angles in a
triangle to be always 180°. According to Piaget Cognitive Theory, he is at which of the following
stage?

QRIM V 66816Q 2RIGE @6Q | 60 ARG QLR BQRg ARQ 6586a Q6l1ge @8 JI0g 606e Bgeea FrT 6RIEIR
6RISITR AR AGR1 180° AR QAN @RAIER 2@ 94 | AIREHS FEPER 2JBA 2gAIea 67 FAREIe @6
adicea 21a?

Options:

1) Sensor motor stage

6Aga 6¢1IeQ Adlia,

2) Concrete operational stage

Q8o AROIRG (@°9¢ adIeasn) adites
3) Post-operational stage

ARG ARRIRE (A06061R) A6

4) Formal operational stage

YRS AR (206a81R) AdIKER

Correct Answer: 2) Concrete operational stage
Q8o ABIRE (@°8¢ adIease) adiaea

Candidate Answer: [ NOT ANSWERED ]
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QID : 96 - "Which two numbers when multiplied with each other gives the products as 12?" This
question

- —_

"6@6 QG C°6il, 6U606Q6R AQYA FRIEA GEIG ©, GEITR 12 94 7" 6060 I8 J6F [

Options:

1) is a closed-ended question as it has a fixed answer

21 9@ Q411G (6316 I66Q) U4, AIRIR 1@ HOY Qan ag8

2) is the most difficult question and there is no solution to it
491 99 KER 44, 99° 6alad aare QI8

3) is an open-ended question as it has more than one answer
@I @ QP PR (360R 964R) 44, PR YRS A8 0B
4) helps the student to think in meta-cognitive terms

2199 6AG-RINIL AQgER6R TR LIS K6

Correct Answer: 3) is an open-ended question as it has more than one answer
<R @ Q1 PR (360R 96ER) U4F, AR IARS A8R 988

=i

Candidate Answer: [ NOT ANSWERED ]

Techofworld.In

QID:97- teaching-learning material (TLM) is best suited to explain “1/20 is greater than 1/200'
to Class IV students.

IV 65181 Smigher Qiel “1/20 6 1/200 Q OIQ @F 266 "IQ| A6 Gisia QAIQIR (TLM)Q 661§ Q9128
268 |

Options:

1) Calligraphy

goa 6RSIQ A

2) 10 x10 Square grid
10 x 10 6gIQ 5@

3) Number chart
Q°Gil QI6"

4) Dienes block
Qlageyg g

Correct Answer: 4) Dienes block
@Ay g@

Candidate Answer: [ NOT ANSWERED ]

QID : 98 - According to NCF 2005, is not an objective of teaching mathematics at primary level.

-

NCF 2005 2g4lies, ¢ digiFle gaeal GEie ARIRIER QEREY @E@I
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Options:

1) preparing to learn high and abstract mathematics

QR \1e° Q90 686 &l dlel 9ge

2) promoting problem-solving skills

QAQY AFRIPA @[B! JOIQ AR

3) making mathematics part of the experiences of a student’s life
cEiong AR R1Q6a Y@ ARRSIA 2°6 QRN

4) All options are correct

ang daq ade

Correct Answer: 1) preparing to learn high and abstract mathematics
QR \¥e° A6 ¢i8ie &al Il 9ge

Candidate Answer: [ NOT ANSWERED ]

Techofworld.In

QID : 99 - Written language, written symbols, manipulative models, static pictures, spoken and real-
world situations or contexts are five ways to represent

PYe QUAl, RGOS 1R, MIFYERTR F6eR, §a 00, @2l 9e° QIge-ga JAFE @l 9aergee diet aalea
QAgIAR @8 QLI

Options:

1) mathematical terminology
CIEioe caal

2) mathematical formulae

CIeioe 9@

3) mathematical thinking and ideas
CIEIER SRR 9Q° UIQEIl

4) geometrical proof

GRS gele

Correct Answer: 3) mathematical thinking and ideas
CIEIR BRIRNIARI 9Q° R8I

Candidate Answer: [ NOT ANSWERED ]

QID: 100 - _____ should be the most important feature of mathematics textbooks at the primary level.

Jiafie gaea 68ea AI0IgIRsa AR GREJE 658G 6291 Qo6 |
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Options:

1) Concepts should be presented from complex to simple
RER 0IQ 99 MIASIGHY RAYAR G A6

2) Concepts should be presented from concrete to abstract
AUREIGE @°F6 0IQ FF66 AAITR @8QI A6

3) Concepts should be presented from abstract to concrete
2URENGS B¢ 0IQ #°F66'R JIF6a QAR KA AP

4) Concepts should be linked to higher classes

URBNIGE QRO 66611Q QAI62l J§ KA QS

Correct Answer: 2) Concepts should be presented from concrete to abstract
URENGS «°F6 0IQ B¢J6eY QYR KEQ AP

Candidate Answer: 1) Concepts should be presented from complex to simple
0@ 0IQ 29 MRGIGHY QAAR @GRl AB0

QID : 101 - Which of the following digit has the minimum face value in 15927

A6 6R6l ARER 1592-60 RRIGA 6¢l6R FIR(60PQ QIR ) 216672

Options:

N Techofworlc

2) 1
3)5
4)9

Correct Answer: 2) 1

Candidate Answer: 1) 2

QID : 102 - Which is the highest common factor of 2/3 and 4/7?
2/3 9@Q° 4/7 @ 6 ARIQE GEIOR 6R6G ?

Options:

1) 2/21

2) 4/21

3)7/18
4)3/18

Correct Answer: 1) 2/21

Candidate Answer: 1) 2/21
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QID : 103 - What is the value of [(2/5)? + (1/5)7]?
[(2/5)? + (1/5)%] Q R4 6266?

Options:

103

2)0.2
3)0.7

e Techofworld.]

Correct Answer: 2) 0.2

Candidate Answer: 2) 0.2

QID:104-If a @ b = a° + b?, then what is the value of 1 @ 3?
d@a@b=a"+b? 6060 1 @ 3 QAR 69607

Options:

01

2)3

3)5

4)4

Correct Answer: 4) 4

Candidate Answer: 4) 4

QID : 105 - What is the value of X in given expression? (25+ 5x 5) + (23 -4x1+4) =X
JOR 2ReYgea X Q 7R 69667 (25+ 5x 5) +(23 -4 x1+4) =X

Options:

1) 36

2) 48

3) 42

4) 30

Correct Answer: 2) 48

Candidate Answer: 2) 48
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QID : 106 - If the length of the diagonals of rhombus are room 20 cm and 60 cm, then what is the area
(in cm?) of the rhombus?

00 QQ9Q @4 goea 63d4 20 608 \9e° 60 637 £, 606Q AFAQ 6ATR (6957%) 60667
Options:

1) 600

2 Techofworld.In

4) 1200
Correct Answer: 1) 600

Candidate Answer: [ NOT ANSWERED ]

QID : 107 - If the diagonal of a cube is 600 cm, then what is the side (in cm) of the cube?
0% @49 @4 & 600 6a7 9\, 6069 40a A (697 68 ) 6@66?

Options:

1) 200

2) 200v3

3) 200/v3
4) 300

Correct Answer: 2) 200v3

Candidate Answer: [ NOT ANSWERED ]

QID : 108 - If the radius of solid sphere is 14 cm, then what is the total surface area (in cm?) of the
solid sphere?

Q8 61g 60IRe @4IAR] 14 627 £, 6662 6 661PRA 6716 QYR ERRTR (69A%) 62607
Options:

1) 2456

2) 2460

3) 2464
4) 2468

Correct Answer: 3) 2464
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Candidate Answer: 4) 2468

QID : 109 - If the perimeter of a square is 32 cm, then what is the area (in cm?) of the square?
00 dleREaABR] 32 646 2\, 606 AFIR 6RPTR (6aF%) 60667

Options:

1) 52

i Techofworld.In

3) 60
4) 64

Correct Answer: 4) 64

Candidate Answer: [ NOT ANSWERED ]

QID : 110 - What is the value of an angle which is (1/10)th of 180°?
180° @ (1/10) 6R1616Q AR 6R667

Options:

1) 12

2)15

3)18

4) 21

Correct Answer: 3) 18

Candidate Answer: 3) 18
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QID:111-
If ABCD is any parallelogram, what is the value
(in degrees) of LABC?

ABCD 9@ eqléd deisqie 949, 6569 LABCa ¢IG
(G9169) @667

A B

Uioge

v Techofworlc

Correct Answer: 1) 72

Candidate Answer: 1) 72

QID : 112 - What is the complementary angle (in degrees) of 36°?
36° Q ARJe@ 6al6 (BG16Q) 69667

Options:

1) 50

2) 54

3) 58

4) 62

Correct Answer: 2) 54

Candidate Answer: 2) 54

« >
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QID:113-

In a AABC given below, what is the value
(in degrees) of x?

Q¢ 9e@ AABC 69, xQ e (G9)169) 62607

B2x 3xC
i Techofworld.Ir

Correct Answer: 3) 30

Candidate Answer: 3) 30

QID : 114 - Which of the following given sets of side (in cm) cannot form a triangle?
77 998 6R4 6AIGI dIg (6266R) Y@ O CI0R PAUIRR RIE ?

Options:

14,35

2)8,6,10

3)12,16,20

4) 12,16, 30

Correct Answer: 4) 12, 16,30

Candidate Answer: [ NOT ANSWERED ]
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QID:115-

In the given figure, m || n and | and p are the
transverse. If P and L intersect at C that is on the
line n, then what is the value (in degrees) of

ZACB?

Jeo@ 966, m || n 49e° | 9e° p Clged cepall UG P
99° L 6Q¢lI'de C @ n defen Tea @60 6069
ZACBQ 1@ (Ggl16Q) 6@667?

p !
\ LS
A B
70°
C n

Options:
e Techofworl
2) 60
3) 65
4) 70

Correct Answer: 1) 55

Candidate Answer: [ NOT ANSWERED ]

« >
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QID:116-

In the following question, select the number
which can be placed at the sign of question mark
(?) from the given alternatives.

a0 Sge g9 6o eIt
A 9OF TG, 6TLT g4 0% (7)QInea

easIde |
3| 8 | 4
o T8
2 3 | 8
17 (45| 7
Options:
1)72
5 Techofworld.In
4) 40

Correct Answer: 4) 40

Candidate Answer: [ NOT ANSWERED ]

QID : 117 - A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series. ABC, ZYX, DEF, WVU, GHI, ?

@ 671 290de 2IR 9@ dae G2l 62188 | geagee Aug a0e fag Qieg IRl @ daedy and @te|
ABC, ZYX, DEF, WVU, GHI, ?

Options:
1) TRS
2) TSR

3) TQR
4) TPR

Correct Answer: 2) TSR

Candidate Answer: 2) TSR

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

QID:118-
The line graph given below shows the number of

students present in the college in different
months of a year.

Q7] 69Q PR FITE RERER IR IR Fae FI1K6Q
ROEe dR11Q A°Y 6QsIa!

2500 -
2000

@
=
D
O
-
o
| Y.
o —
= @
2@ 500 - sl
=
s 0

M1 M2 M3 M4 M5 M6 M7 M8

Months / qig

What are the average number of students present in the college per month?

RERRCA J0 FIN6R PINIRIR AALE 62wl SRINE A°6ll 6@60?

Options:

Techofwor

2) 1343.75
3) 1347.75
4) 1351.75

Correct Answer: 2) 1343.75

Candidate Answer: 2) 1343.75

« >
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QID:119-

The line graph given below shows the number of
students present in the college in different
months of a year.

¢ 6991 PIRe FITT PERER IR e Fae 196
QUES dRIeNe Qg 6N

2500
2000

2000

1500 -

L J

daidie a°g
n O
o
o o

900

—

Number of students /

o

M1 M2 M3 M4 M5 M6 M7 M8

Months | i@

What is the percentage increase in the number of students present in month M6 from the number of
students present in month M17?

M1 Q1960 QAG0 &aIgha a°eiil OlQ M6 FIA6q QAge SitITNa Qe 61616 Q8 60607
Options:

1) 92

3 Techofworld.In

3) 100
4) 104
Correct Answer: 3) 100

Candidate Answer: 3) 100

« >
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QID: 120-
The line graph given below shows the number of

students present in the college in different
months of a year.

Q¢ 609 RIPE GITE PR Y@ @0 e IR
PUde daleia Ay eQdldl

2500 -
2000

P

=

Loi ]
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=

65

82 5ogo{ 00

£

Z 0

M1 M2 M3 M4 M5 M6 M7 M8

Months / q1<

The number of students present in month M2 are what percentage of number of students present in
month M7?

M 2 F196Q Qage daIeha °ad M7 AIaea aage EaIgha 6960 6101°61?

Options:

sz Techofworld.In

2) 43.42
3) 47.42

4) 51.42
Correct Answer: 4) 51.42

Candidate Answer: [ NOT ANSWERED ]
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QID : 121 - Which of the following statement is not correct about environmental awareness?

066 A6EOR0I AMPER DA RET QQaY A0 Q6L?
Options:

1) Making people aware can cause further exploitation of natural resources

AlQA6R 6O @l QIQ@@ At E‘JIQ@ ESIITEEIR RIQE] 69K UIER

2) Media and non - governmental organisation plays an important role in increasing awareness
about environment

60 \9e° 6QARINN 2°gl AR6RE APIHER A6EFRT! AIRIEE QI8 QAR AIRE @61

3) It has direct bearing on the protection and conservation of environment

G 866 I°Q8El \e° I°QUEIR RJQ AAIR R TFeR

4) No option is correct

6al6ld deg A0 g6d

Correct Answer: 1) Making people aware can cause further exploitation of natural resources
Aleden d600R @all QI@@F}? ati "dllg@ 6SITUEEIR RIQE] 69R UIER

Candidate Answer: 4) No option is correct
6aleid ap A0 g6@

QID : 122 - How many types of elements of environment are there in environmental studies?

AR6REICE F6QT6lI JRAERTIRQ AUIRINYER @6 IKIR 0RE?

Options:

T Techofworld.In

3)6
4)3

Correct Answer: 4) 3

Candidate Answer: [ NOT ANSWERED ]

QID : 123 - ‘Teaching of EVS should encourage process skills which are the core of inquiry — based
hands on learning’. Which of the following is not such a skill?

‘EVS 86610010 994 2801Q AR QQI@ 626 AB0 Al 999 IR - ANIQ AU BE K61 210" | HFR FEIF YR
Q0! Q6w?
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Options:

1) Determination
fQae

2) Inferring
REEFARET

3) Observation
ala[saly

4) Predicting
690]Q°

Correct Answer: 1) Determination
foae

Candidate Answer: 4) Predicting

Techofworld.ln

QID : 124 - After teaching the lesson on animals, Sheetal arranged a visit of her class IV students to
the zoo. What is the purpose of this visit?

QgQ QA A0 F6HRRIA A6R, 6109 IR 092 668Q SAITNa FEAEIRIL, 6RHIR QY| FEQRR | YA AERTA
QEREN D617

Options:

1) To develop skills of animal protection

JIéN aBIa @86 Q16 @l

2) To have a change in the daily time- table routine

go060a An0-660ma QER QRO 2IEEe

3) To co-relate classroom learning to real — life situation

QIgQ - M196RQ ARYH A 668 SigRIQ Qierer Afts JIAR A4l

4) To develop sensitisation about how to domesticate animals
QA QU6Q AGAIGR 6QIAI JIEN AMFER AERRREIRGI FRIE QA

Correct Answer: 3) To co-relate classroom learning to real — life situation
QIR - M1RERA AALE AL 658 dgIQ AIEPR AME QAR @4l

Candidate Answer: 3) To co-relate classroom learning to real - life situation

QIYQ - P10600 AATE A2 66EeN FigRIQ AIGER AMG QAR Al

QID : 125 - Which of the following is not related to the significance of environment studies?

P78 265 AR6R6l 2UAERA PI0UIR AIFFER AR QL7
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Options:

1) Locates and comprehend relationship between natural, social and lateral environment
JQ0R, AAIRES ¥e° AT AR AR AME HP0 Q6Q IQ° 6QI6E

2) Engage in exploratory and hands-on-activity

26QA6E 9Q° RUeRId Y]

3) Helping in learning all the definitions and concepts for getting good marks

AR AR AGAR AR AAY AR 9e° AIRE FFIR 689 ALIAE! Al

4) No option is correct

6al6ld Gep a0 gee

Correct Answer: 3) Helping in learning all the definitions and concepts for getting good marks
QAR AFQ ABGAUQ IR AFY CRI NQ° QI FFRIQ 689 A0 FQl

Candidate Answer: [ NOT ANSWERED ]

Techofworld.In

QID : 126 - Which of the following International organization(s) supported environmental education
programs?

PARGe 2190100 a°gl (§7) Atseeae 8-l 60IgIF AAdie @6Q?
Options:

1) UNICEF

RAREAT

2) World Bank

Qg QY@

3) UNESCO

(plsalsal

4) All options are correct
ang 9eq ade

Correct Answer: 4) All options are correct
aag 9ag ade

Candidate Answer: 4) All options are correct
aqg @ag ad«

QID : 127 - Environment study is essential

AR64 2R 2RI
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Options:

1) for the progress of society and nation

afIR G RIER 2g60a AR

2) to make social life happy and comfortable

AR QR g6 \Q° 2IUALNLR @O

3) to irritate students and confuse their mind

2190 30 FA6E I° QIR FIRER ARQ PREE

4) Both for the progress of society and nation and to irritate students and confuse their mind
QEOR AFIR G FIPA AGEHa AR Ye° IR Fag AR6E Ie° PR ARER BRIQ Al AIR

Correct Answer: 1) for the progress of society and nation
QIR B QIFA 2060Q AR

Candidate Answer: 1) for the progress of society and nation

"~ Techofworld.In

QID : 128 - ‘Wildlife Week' is celebrated every year during the ;

‘RIF1OR AgIR’ goeaq Q AL, IR @l 91
Options:

1) 1st week of November
R6RCQ gaIa agie

2) 1st week of August
dieida gaiel 99w

3) 1st week of October
U6QI9Q AI9Q oA AgiQ
4) 1st week of July
@RIRG gaIa agie

Correct Answer: 3) 1st week of October
degleq AlIga geiq agie

Candidate Answer: [ NOT ANSWERED |

QID : 129 - An EVS teacher is using NCERT textbook as a resource to teach children. Which of the
following statements does not satisfy the need of preferring NCERT textbooks as a resource in the
classroom?

NReR EVS 88e QI9Ia d916rIa AR IedadIat Aloigaecs Iat ag 8a6e 9421a 0680 | QIaqer
Q6aId 81 NCERT QI0Ygge QRINY 60GAIQ J6IRUPIR 8K, ARE 9Q0gRa Feu @66 a8l @6a @12
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Options:

1) NCERT textbooks connect child’s outside life with the classroom

NCERT QIO4Qg@q)d §igQ Q210 190 668e8 2°gq @6a

2) NCERT Textbooks are written in easy language which can be understood by the child

NCERT QIOYggage a2 QualL, 6R6i g4 QI §i§ 9860 AI6a

3) NCERT textbooks contain pictures and illustrations which need the child to understand abstract
concepts easily

NCERT QIOYgg6 990 8¢ 9a° 06 @t QI figa a96aa 20 AIREIT 9760 @aia J69

4) NCERT textbooks promote rote learning

NCERT QI04gg® 6916 AgQIa J0IQ @6Q

Correct Answer: 4) NCERT textbooks promote rote learning
NCERT QI04Ygg® 6016 &gl goIa @6a

Candidate Answer: 4) NCERT textbooks promote rote learning
NCERT dIO4Ygga 6QIg dgQIa goIa K6a

Techofworld.In

QID : 130 - An EVS teacher of class IV asks students to put their worksheet, observation, drawings
and reports in a folder. This folder can be called

IV 6680 10ee aRNa e 8aIha 0IQ 166 01a @Idage, Adeeas, 2@e Ye° gB6eergs QIsee
QREIR | IR 6TIRIAT QR IR Al6Q |

Options:

1) Anecdotal Records
QAR Q@6

2) Behavioural Records
2008 6006a

3) Projects/ Assignments
geq / Qldg

4) Portfolio

QTN

Correct Answer: 4) Portfolio
QTR

Candidate Answer: 4) Portfolio
QTR

QID : 131 - During the reign of Maha meghavahana Kharavela, the empire of Kalinga extended upto

€191 6F1AIRIAI HPERRIA UNGRIEH FRGEIA AIFIRY 2160y QAIfe Q6A8R |
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Options:

1) river Indus in north and river Godavari in south
Qa6a 49 99° F66l 6611Q19Q Q1

2) river Ganga in north and river Godavari in south
QAER FI6F Q1 IQ° OF6El 6611 PR1

3) river Indus in north and river Krishna in south
QAR Y \9e° 0-6E QY A1

4) None of these

92 FRIQ 6@16E T geg

Correct Answer: 2) river Ganga in north and river Godavari in south
QAR IEF PQ19Q° OF6El 66RO AO1

Candidate Answer: 1) river Indus in north and river Godavari in south
Qa6a 49 99° @F68l 6611Q19Q1 RQ1

Techofworld.lr

QID : 132 - Chandipur is located in which district of Odisha?
BE6Ia @6l 6RRI 9FYR ARYE?
Options:

1) Puri

qen

2) Balasore
QERER

3) Ganjam
ol

4) Bhadrak
Wew

Correct Answer: 2) Balasore
QleRga

Candidate Answer: 3) Ganjam
Gl

QID : 133 - “Hexadelta Region” of Odisha is not formed by which of the following river?

GRSIQ "62g160q! 28R" YRS 96 AQ QIR 6106 g9 QIF?
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Options:

1) Ganga
&P

2) Rushikulya
a@gmd

3) Baitarani
6R0QE!

4) Brahmani

QIQa1

Correct Answer: 1) Ganga
A[ag

Candidate Answer: [ NOT ANSWERED ]

Techofworld.l

QID : 134 - Nabrangpur Jeypore Plateau region in Odisha has the basin of which river?

BPGIA PRA°YR KR FIRQASE @8 PQ1Q QDR QRG?

Options:

1) Sabari
aQlign

2) Baitarani
(Salalalyy

3) Ganga
Gl6F|

4) Godavari
66lQIQRN

Correct Answer: 1) Sabari
Il

Candidate Answer: [ NOT ANSWERED ]

QID : 135 - Mayurbhanj, Joda, Barbil and Keonjhar mines in Odisha are :

(6Ia ALERE, 6101, AIRFR Y9° 6RBRTIA &R |
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Options:

1) uranium mines
RAEARAC &R

2) aluminium mines
2MIRARAA 6B

3) iron ore mines
2900 ANER ¢E

4) magnesium mines
AYIGeRTA 6iR

Correct Answer: 3) iron ore mines
21900 AR ¢

Candidate Answer: 2) aluminium mines

Techofwor

QID : 136 - World Tiger Day is celebrated on !

Qg QIQ Gead \ QeQAIE @9

Options:

1) 29th July
29 @RIQ

2) 21st July
21 @RIR

3) 20th June
20 @@

4) 20th July
20 @AIR

Correct Answer: 1) 29th July
29 @RIR

Candidate Answer: [ NOT ANSWERED ]

QID : 137 - Which of the following is not a constitutional body in India?

QIR Q6T AREER APRURR a°gl g6L?
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Options:

1) NITI Aayog

Q10 2IR6RUG

2) Finance Commission

dalg @dee

3) Election Commission

PAIeR adee

4) Comptroller and Auditor General of India
@Q@@ \Q° AIRIARRIND AAEOR

Correct Answer: 1) NITI Aayog
16 ARG

Candidate Answer: 4) Comptroller and Auditor General of India

Techofworlc

QID : 138 - Who is the Supreme Commander of Armed Forces in India?

QUREE A6 QIDA1Q AR RAIPIQ 92
Options:

1) President

AQUAG

2) National Security Advisor
10, ol A6y

3) Prime Minister

QuIRART

4) Chief of Army Staff
edRIgale

Correct Answer: 1) President
alalla ()

Candidate Answer: 1) President
AQUAG

QID : 139 - Which of the following place does not receive winter rainfall?

Qe1e @6l @ISl 61168 QYAIS 29 QIF?

«
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Options:

1) Punjab
digle

2) Chennai
6091

3) Tirupati
6qa

4) Balasore
QeRgQ

Correct Answer: 4) Balasore
QERgR

Candidate Answer: 4) Balasore
Qlemela

Techofwc

QID : 140 - Himalayas run through how many Indian states?

IR 9T QIRY 698 GIRS?
Options:

1)5
2) 10
3)8
4)7

Correct Answer: 2) 10

Candidate Answer: 4) 7

QID : 141 - Who started the ‘Bhoodan’ and ‘Gramdan’ movement in India?

QIAEE 'QAR’ 6 'GIAQIR’ 2ICLIRE @ 2IQA *ALRjEm?
Options:

1) Mahatma Gandbhi

F1L1€) GIAT

2) Jawaharlal Nehru
@ERAMIP 6ARQ

3) Sardar Vallabhbhai Patel
ARG paEIR TYES'R

4) Vinobha Bhave

Q6QIQI QUEQ
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Correct Answer: 4) Vinobha Bhave
FERIR Q6D

Candidate Answer: [ NOT ANSWERED ]

QID : 142 - Who was the first woman President of Indian National Congress?
WG V110, °6669R JelFl FRRI AYAD &N ejsm?
Options:

1) Annie Besant

w2 Techofworld.|
2) Sarojini Naidu -
AR FIRG

3) Indira Gandbhi

QR 61e7

4) Begum HazratMahal

60l IARFLW

Correct Answer: 1) Annie Besant
2HIR 69629

Candidate Answer: 1) Annie Besant
2HIR 69629

QID : 143 - Marasmus and Kwashiorkor are caused due to the deficiency of

6ARIREAIC \9° RIBEHBAR A AI65a K198 Q66 |

Options:

1) Fats

2]

2) Proteins
60160

3) Minerals
sae aqel
4) Vitamins
Qeide

Correct Answer: 2) Proteins
696

Candidate Answer: 2) Proteins
6916R
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QID : 144 - Which of the following celestial bodies intersect with the orbit of other celestial body?

aORee QBT1Q 6Q62Q F164 QEIT 2ARYIRY ZIRISIA QLA PAULIR AIGFER 680 F6Q7?

Options:

1) Mercury
di@
2) Saturn

Techofworld.In

CeR661®
4) Pluto
edssd

Correct Answer: 4) Pluto
0ed66d

Candidate Answer: [ NOT ANSWERED ]

QID : 145 - The respiratory organ in flies is

FIR¢F60 §aR 26 I
Options:

1) Lungs

qaag

2) Skin

QIFIQ|

3) Nose

Qle

4) No option is correct
6xleld Fag O g6e

Correct Answer: 4) No option is correct
6@l6d fag O g6ee

Candidate Answer: 1) Lungs
qiaag

QID : 146 - Which of the following is not a viviparous animal?

P8 K66 @1eQ e QEw?



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) Cat
QIR

2) Fishes
RS
3) Dog
999

4) Whale
eRledm

Correct Answer: 2) Fishes
QIS

Candidate Answer: [ NOT ANSWERED ]

QID : 147 - State bird of Odisha is :

GO URY Qg ______|

=  [echofworl

1) Indian roller

WL QNG

2) African roller
2TRNR 6P

3) Indian Eagle

PRI agelR

4) Great Indian Bustard
666 RQAR §Qe

Correct Answer: 1) Indian roller
QIR 6Q@ER

Candidate Answer: 4) Great Indian Bustard
6616 ARRIR QS

QID : 148 - Which of the following is a natural indicator for acid?

Ae1a R66 240ea Q6 9ea?
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Options:

1) Red chilly
PR RS

2) Black pepper
60l F1QQ

3) Turmeric
29Q

4) Cardamon
Rl

Correct Answer: 3) Turmeric
2QQ

Candidate Answer: 4) Cardamon

B Techofworld

QID : 149 - Brass is an alloy of .

doe QRE fgell
Options:

1) copper and tin

QIfl 9e° Ga

2) copper and nickel
oIFI 9e° feam

3) copper and zinc

QI 9e° Qg

4) copper and chromium
QIF1 9Q° 6RIAIA

Correct Answer: 3) copper and zinc
QI \9e° Qg

Candidate Answer: 2) copper and nickel
Qe 96° FeRm

QID : 150 - In which classical dance form, “Tribhanga” posture can be observed?

Q6191 Q4R QJ, "SRRI QBT AR @A AINI?
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Options:

1) Manipuri
AEga

2) Kathak
ool

3) Kuchipudi
Roge

4) Odissi
©BGE

Correct Answer: 4) Odissi
B3GE

Candidate Answer: [ NOT ANSWERED ]

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

